TEIATHRLAEFTEY TR 4L (24%48mm) MMS-PWH % 7]

W e
O FE R £0.2%:5 %] & ©RS485 i 31 4 & , MODBUS RTU MODE
OF I pFipl & &2 8% Lin TR/TIN/F L #/F L H P/ OBAUD RATE: 19200/9600/4800/2400

F & ©EEPROM %% % 54 F 7 3 10 & 12
OF T F B 5" 7 RS B/f B S H#pin 7)) OF LA LM RAE 7~ P IR L5k
O TR/RI/FLEE ZEL G 2l © & /] (24*48*48.5mm), {8 %14 %
© R A iRIG# 5 & 4 F K4(1.2*50us) O~ 35 s+ sy »

I

¥

<t

V, A, KW(HD, PF

g ehs s — > [ O B <o

[ ] [ ] [ ] [ ] [ ]
RST ENT «@ Y
3] PR A o Pkt 4E(RE T H i dkdg)
7 Ak R GR R s o) # 3% %4 (RSB S #e3k 2.F)

NOTE:LOCK=YES P RST 4 4 »%

P I e

RST 4o o p LAl ¥ 81 @pF,§ LCOK=NOPF # 54  HI  FEEH-FAF HIFL I PFET
D Fe 474 7e TP Lt ¥ETEM &4 iR aEe

2.t SR TP PF,AL -Qﬁ it AR Fi%E R FKLF'x’f FRENT - REKETF
WHAEF F P 1. % &7 Ep, %?Ji e RS485 % ﬁ:& iy

N TECRN 7

(
A FgEr i P 1.t R & m;;%
2B FHE AT RIFT AR I TR E LT ok T8
TR

P SR Y A S e Y ]027?;&##%%;‘-?
BEF B 02 4
R N E PR s EABER TR RAFERPEN2AETET T T E
# F R Brtdw I f%é”*iﬂg
1 o ¥ ETE {2 349 S|4 0/FUNC & » :8 B %58 »
1-1 | B RAEEG ~ F .E.:ud1'1<I&Aﬁ%|”5li§ILﬁiFa§?£%
P.COD(Pass Code) O000DR i, Rmrrme BT phrEX 7, RBaFREY L ¥
FFREE O BT
12 |81 F p &7k T F BUE o|l.v@gtdis » ot B p 27 4% T E(NO or YES)
AUTO(Auto scan) n o204, &~ CT " EXK i'p‘

FEk 5 NO % R YES B > £ S kA T

1-3 |CT v @K T F L @4ty ~ CT v 3k 2 i2(0.2/1.0/10.0)
CT(CT rate) 25004, ~ W BE R ASR TR
FEA B L ] O W AMCT R T ), &2 %!

r
T

1-4 | M RABRELE CodE|l.n@&@gti » id B % #5(0~19999)
CODE(Code) 000002 RMake » 5 i TR LT
RS0

156 43X TR R Lol ]l @gEss » & % 24 (NO or YES)
LOCK(Panel Lock) ol AEMeE Ew ¥ BT
R E: NO Pk RYES BG4 £ R4 i W % ox
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2 [T KETE 123495 |H@iie » RS485 @ iht X T |

21 | emx ey Addre|l. A& &R » 3t =4 (0~255)
ADDR(Communication —Address ) | 0 000 0248 4k:e » 3 A fe 5 K T F

[ N Iy i }

ﬁE’\;’:l’s %0

2-2 g FRET b AU d|l." @4ss »~ i e 5 (19200,9600,4800,2400)
BAUD(Communication Baud 1920 0DRFBEEEEMFHRPIARK EE
Rate)¥g £ £ 5 19200
2-3 [ R AR TR PR L @gkss » 32 0P| = (n.8.2,n.8.1,even,odd)
PARI(Communication Parity A B 2)2AFMEEEY T ¥ AT
Check)7f % & % n.8.2.
ks ER Brdw B F A 45 &3 (TP
1 | > i aiF C —EC AR RS T R I SR
2 B~ B 0PI ouEF|RERATER
3 |EEPROM 1§ P44 3% E - O O|1.EEPROM 3 B~/ » pF ¢F 3T 38 ~ &

- o|2.EEPROM & » 42 =& () 100 § =x,i%F 10 &)
GE G| £ 57 o deiB A7 E-00, 44 7T 7% 2
1.E-00/NO % %% 1,34 & % w4 EEPROM & &
2*@&3:&3‘& YES, #k 1& T‘&ﬁ'f‘?‘;'ﬁ'@?_‘? =R
. w42 EEPROM F XK B 77k L ATK T

MMS-PWH Modbus RTU Mode Protocol Address Map

FH#3% 16Bit/32Bit, ¥  § 5% 8000~7FFF(—32768~32767 ),80000000~7FFFFFFF(-2147483648~2147483647)
ik LA B # (7
0000 1D 3] 554 %) 5 MMS-PWH % 00 R
% BE o % AL, BEr 0000~0043(0~67)(0:0FF,1:0N
0001 | STATUS |0 OéER Bitl:V OVER.. ( Bit%(:l ERR) : R
0002 %% Reserve,zf ie 5 0 R
0003 AUTO  [B 7 F p #*7 3% 85 » # F) 0000~0001(0~1) (0:No, 1:Yes) R/W
0004 CT CT ** & 8 » # B 0000~00002(0~2)0:0.2, 1:1.0, 2:10.0 R/W
0005 BAUD  |if 2 & 85 ~ # B 0000~0003(0~3)0:19200,1:9600,2:4800,3:2400 R/W
0006 PARI |3 2t F % # P = 7 85 ~ # B 0000~0003(0~3)0:N.8.2.,1:N.8.1..2:EVEN,3:0DD R/W
0007 LOCK  |# % 4 2% %85 »~ # B 0000~0001(0~1)0:NO,1:YES R/W
Ba 7 H 2% %85~ # B 0000~0004(0~4
0008 DISPM OBF.‘DISP Vv, l.DISIP f 2:DISP_ KW, g.KI%P KWH, 4:DISP_PF RV
0009 ADDR i 3 = 4b, 85 » # B 0000~00FF(0~255) R/W
000A CODE LM %5 5 » § Fl 00000000~00004E1F(0~19999) % =% & R/W
000B M %A B Ei] 00000000~00004E1F(0~19999) 4 = 3 % R/W
000C-000F %% Reserve,if & 5 0 R/W
0010 | DISP V |§ &% % i 487 # B 00000000~0000270F(0~9999) & 5 =V R
0011 7 R AT 8,88 1 & B 00000000~0000270F(0~9999) i i F e ! R
0012 | DISP A | =% e 57 # B 00000000~0000270F(0~9999) & i3 =@ R
0013 T B 6,881 4 B 00000000~0000270F(0~9999) i i 5 =@ R
0014 | DISP KW |+ % & i& 4877 # B 00000000~0001869F(0~99999) % i % & R
0015 i % BE o .88 & B 00000000~0001869F(0~99999) i i+ F 2@ R
0016 |DISP KWH |i¥ X /| BF A7 &, 5 7 4 B 00000000~0001869F(0~99999) % i3 & R
0017 i %) PERE T L8 T 4 ) 00000000~0001869F(0~99999) i i+ 5 (V) R
0018 | DISP PF | & ¥4k 7 &5 7 4 B 00000000~000003E8 (0~1000) % i+ 3 % R
0019 7 % FHchE T 6,885 # B 00000000~000003E8 (0~1000) i i+ F ‘& R

Notel: 7 /& =DISP V * 10
Note2: CT=0.20r1.0
#mie =DISP_A*10° » I & =DISP_KW * 10™
CT=10.0
it =DISP A*10? » 3 & =DISP_ KW * 10

%] P& =DISP KWH * 107
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